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Assuming that x Is the independent variable, which of the following is
not a function of x7

b, xy =1
2
c X+ 3=y
d. EE = 5
¥

Rank the three students from highest te lowest relative to the way they
compare with others in their own class.

Jim Mary Bob
Raw score {x) 82 79 80
Mean (%) 80 75 83
Standard deviation (o) 15 35 20

a. Jim, Bob, Mary
b. Jim, Mary, Bob
c. Bob, Jim, Mary
d. Mary, Bob, Jim

e. Mary, Jim, Bob

The inverse function of f(x) = 3 - /3 - x is:
a. +3 - x -3
b, x, x23
2
e. = X + 6% - H, x>3
2
d. x7 - 6x + 9, x<£3

2
e. = X + 6x - 6, x£3
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4 The graph of the following quadratic equations intersect each other in how
many points?

2 2
X 4+ oy o= 4
2 ?
257 -y = 8
. 0
b. ]
C 2
d, 3
5. Tammie, Beth, and Jennifer are cousins. The sum of their ages is 55,

in four years, Jennifer will be twice as old as Tammie is now. Ten
years ago, Jennifer was twice as old as Beth was then. How much older
is Beth than Tammie?

a. 2 years

b. 3 vears

c. 7 vears

d. 10 years

2. 14 vyears

6, Given f(x) = 3 - x2 and g(x) = 3x - 7, flg(-2)] is:

a. -10
b. 166
c. 172
d. ~166
e 10

T
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} . . . , _ 3 2 .
7. What is the value of ¢ such thar x + 2 divides x7 - ¢x™ + 3x +7c¢ and
gives a remainder of zero?

a 0
o =?
c &
d. 3/.'.';
e, A4

' 3

e i - i ; : 2 2

The center and radius of the circle whose equation is x° + y~ ~ 4x -~ 10y = -4
are:

4, 24

9, The simplified form of 2 L o is:
a. 9
b, ~5
¢, =5C
d 5L
g, -l

o
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10. Which of the following pairs of lines are perpendicular?
(1) 2x + 3y = 5
(2y 29y - 4% = 6
(3) 2y + 12 = x
(4) -3x + 2y = 4
a. 1 and 2

b, 2 and 3

¢. 1 and 3
d. 3 and 4
e. 1 and 4

11, 1f fx)= J:: then what is f{Z + k) - f(2) 7
h

a. 0 d. [
b. .jz+h '-\]—2"
C. 1 e. i

Ji 2+h+JT

12, Given: 2x + 17v = 162
17 + 2y = 275
then: X o+ oy o

4 113
‘ 15
b. 32
c 23
-
d. 77
Y
£, 2
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13. The roots of a quadratic equation whose discriminant is 84 may best

be described as:

a, unequal and rational
b. wunegual and irrational
¢. dimaginary

d. equal

€. additive inverses of each other

. . 1
14,  Simplify: 1 - -
4 imp Lify Exw
1
1*v-71
a -1
bh. 1
c v - 1
Y 1
1 -v
- TI Y
e 2

15. All the values of x that satisfy the inequality -8 £ 1 - 3(x -~ 2) <13 are:

a. =2d4x <5

b, -6{x (1l
c. 5«& x<-2

d. 1 <% -6

e, -4 I/2<‘x5;6



Naebra

16,

17.

18.

A

HHrve

vy Ls made ol house pets in a

Cats - 19 houses
Dogs — 38 houses
Birds - 10 houses
Cat and bird only - 2 houses
Cat and dog only - 3 houses
Deg and bird only ~ 1 house
Cat, dog and bird - 2 houses

How many houses had no pets?

o

38

13

37

0

given community containing 70 houses.

The number of houses and pets owned was as follows:

I ) ; . 2 . .
The soluticn of the inequality 3m~ < -10 -13m using interval notation is?

10 ;
d. “:‘i"‘ -l)
b (oo, - %)U (-l, c><>>
10
- [ =
o | 5 1 )
10
1. - =, -1
¢ { 3 1]
10
a, (‘ "m*é-, v——-l)
VAT TR X3 - 27 2x2 - 18
Multiply: =T 5
‘ 3T+ 9x + 27
it ‘:éf;.._i_mé_
15
)
bo xT 4 6x 49
X - 3
C. ixz ~18
15
d. 2
15
e. 2% - B
5% + 15



19.

20.

21.
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ALl the values of x that satisfy the inequality ,ZX - 5[ > 7 are:
a, =1<x<6
b, ®¥>6
c., x £ -1
d. ®x<-1 or x>6

e. %X » -1

-2 +2¢ is a zero of x31-x2 - 4x — 24. The other two zeros are:
a. -3 and -2 -2(

b. 3 and 2 + 20

c. 3 and -2 -2¢

d, -3 and 1 + 2¢

e. 3 and 1 + 2¢

P dollars is invested at a simple interest rate of r. The balance in the
account after t years is given by A = P + Prt, In order for an investment

of $1,000 to grow to more than $1,250 in two years, what must the interest
rate be?

a. 1 = 10%

b. 1 = 12.5%

d. r > 25%

A group of college students attended a party. In the group there ware
15 foreign students, 43 American males, 35 more American females than
foreign males, as many males as females. How many students attended the
party?

a. 100
b, 93

c. L06
d. 14l
e. 143
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23, The solutions of the equation 4x -8x~ + 3 = 0 are:

a. 3Y2/2, f575

3 1
b2 3
L e T
Ce. 7 5 2 L) 29 2
3 1
d. + 59 + )
32 {7
Qe TR T Ty T~
2 2
24. Subtract: a + 3 - ca -~ 1
2.62‘.2 + Sa — .[.2 2&2 + Ja - 4

The numerator of the simplified answer is:

a. 10a - 6
bh. 4a
c. 6Ha - b6

d. ﬁaz + 6a - 6

@. 432 + ba + 6

25. The complex number -%M%F%%'written in atbd form is:
a. %-+'§i
b. -é—-;j—(',
C. ~% + %-é
4 g5 3¢
e, T%_ +-%L
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27.

28,

29.
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An urn contains six red balls and four blue balls., If two balls are
drawn at random, with replacement, what is the probability that exactly
one of each color is drawn?

. L
10
9
b. 55
C 12
25
d. 24
45
e 0
R 3 2 . ) . : . . ! ,
F(x) = 3x7 - 2x7 -~ 150 Which one of the following is true?
a. There is at least one real root between x® = ] and x = 5
b. There is no real root between x = 1 and x = 5

¢. There are 4 real roots between x = 1 and x = 5

d, x ~ 1 is a factor of 3x3 - 2xZ - 150

e. x + 1 is a factor of 3x3 - ZXZ ~ 150

: LI
The complex number ——— is equal to:

L7
a. 1 ¢
b. L
c. -1
d. =~
e, 2

The probability a certain door is locked is one-~half. The key which
unlocks the door is one of ten keys hanging on a rack. If two of the
keys are selected at random, what is the probability that the person
will be able to enter the room without returning to select another key?

a 0.2
b 0.6
c 0.5
d. 0.7
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30.

31.

32.

¥
N : 2
(Xz/jyé/bzi/3)

Simplify 797573 3
173,273,

. (x
. Y
773 .2/5
N4 2
b. x1/3
2/5 7/3
vy Ty
2/3
Coa X )
1/3 3/2
v g
P .
q. x2/.3y._/527/3
.13

S VENVE
b Y

Determine the value of "a" so that the solution set is the set of all

real numbhers,

J; + 4a12<a+l + 3_;; - 6O§o+ 11

a -2

b, -1

¢ 0]

d. {

e, 5
Which of the following is the i .Ag
equation for the given graph?
a. y = 3"
be y = log3x
A %)X ? 1\ >
de ¥y = log*3x

e. y = logl/3x
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Solving for M in the equation M M 1 leads to the conclusion
= K tTD

that M =
a. AL

0 -¢C
b C A

e e o e /
c. AL

AD -~ DC
d. A9

PC - CA
e. AL

DC
The value of the determinant [ 1 is
-1 =

a 4
b, 1
c. -l
d. -2
e. 2

2 .
Consider the graph of % 2—x - 2 . Which of the following is ngf true?

2x7 - 18

3 is a vertical asymptote

a, x =
b. x = -3 is a wvertical asymptote

c y = 1 is a horizontal asymptote
d x = 2 is a zero of the function

e. The graph intercepts the y - axis only once.

[f tan A = -1 and sin A is positive, then the measurement of A is
a. 4sg° d. -hg®
b. 135° e. 225°

c. 186°

11
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37. A box contains ten ball point pens, two of which are defective. If three
pens are chosen at random, without replacement, what is the probability
that at least one will work properly?

a, 1
3
b. 10
c. _7
15
de 1
45

e, 1
125

38. Use the factor theorem to find which one cf the following is true:
3 .
4. % - 5 and x + 2 are factors of 3x” - 12x° - 1llx - 20
) L3 L2 .
b, x 4+ 5 is a factor of 3x” - 12x7 - 1llx - 20
. 3 L2 )
c. ¥ - 5 is a factor of 3x~ - 12x° - 1lx - 20
. 3 2
d. w4+ 1 is a factor of 3x~ - 12x~ - 1llx - 20
3 2
o, w + 10 is a factor of 3x~ - 12x7 - 1lx - 20

39. y varies directly with r and the square cof x and inversely with the
cube of p. If x is tripled and p is halved, what is the effect on y?

-

a. it is — as much as it was originally

as much as it was originally

2
.. 8
b. it is 3
9

c. it is § as much as it was originally

d, 1t 1s 108 times as much as it was originally

e, it is 72 times as much as il was originally

40, Which of the following is the

equation for the given graph? v
i
] 3
a. vy X + 3 ////
3
b, v = %x - 4
3

C v ~Z}{+ 3 S X
d = EX + 3 //////—WZJ i -

Y T3
e y = gx - 4









